1
1)
2)
2 MR=MC
1)
2)
3)
4)
3 AR SAC AVC
1)
2)
3)
4)
4
1) AR=AVC 2) TFC
3) P=AVC 4)
5
1) SMC



2) SMC
3) SMC
4) SMC
5) SMC
6
1) MR=LMC # SMC MR=AR=P
2) MR=LMC=SMC % LAC MR= AR=P
3) MR=LMC = SMC = LAC = SAC MR= AR=P
4) MR=LMC=SMC =LAC = SAC MR=AR=P
7
1)
2)
3)
4)
3

STC=0.1Q°-2Q*+15Q+ 10

4
LTC =Q°-12Q°+ 40Q
1 P =100 MR=LMC

3 Q=0660-15P

5 LS = 5500 + 300P
1 D = 8000 —- 200P

2 D = 10000 - 200P

6 D = 6300 —-400P



SS = 3000 + 150P LAC 6 50

1

2 1

3 D' =8000 - 400P
SS =4700 + 150P

4 3

5

6 1 3

SMC AVC
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